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(Elective Course : Commerce) 

ECO-11 : ELEMENTS OF INCOME TAX 

Time : 2 Hours  Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt 

any three questions from the remaining.  

1. Determine the total income of Shri Sushil 

Kumar from the following particulars for the 

year ending on 31st March, 2024 : 14 

Particulars ` 

Interest received on 7% bonds of 

U.P. Govt. 

5,000 

Income from house property 24,000 

Dividend received on preference 

shares of an Indian company 10,000 
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Long-term capital loss (related to 

the year 2020-21) 7,000 

Long-term capital gain  5,000 

Short-term capital gain  6,000 

Short-term capital loss 2,000 

2. (a) Mr. Vishesh, who is not covered by the 

Payment of Gratuity Act, 1972, receives 

a gratuity of ` 5,76,000; when he retires 

on 23rd June, 2023 after a service of  

34 years 9 months and 23 days. His last 

drawn emoluments are as follows : 8 

Basic salary  ` 30,000 p.m. 

Dearness allowance  ` 7,200 p.m. (fixed) 

Annual increment in basic salary 

` 1,200 p.m. falls due on 1st January 

every year.  

What amount of gratuity is exempt 

from tax in the assessment year 2024-

25 ?  

(b) Distinguish between Previous Year and 

Assessment Year. 4 
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3. (a) Explain the conditions which should be 

satisfied for an individual to be resident 

but not ordinarily resident.  8 

(b) What are the provisions regarding 

statutory provident fund in Income Tax 

Act, 1961 ? 4 

4. (a) Determine the annual value of house of 

Mr. Varun for the A. Y. 2024-25 : 8 

Particulars ` 

Municipal Value 2,00,000 

Fair Rent 1,80,000 

Actual Rent per month 25,000 

House remained vacant for two months 

during the P.Y. Unrealised rent  

` 40,000. Municipal tax paid by the 

landlord ` 20,000. 

(b) What does the term ‘Capital Gains’ 

signify under the Income Tax Act ? 4 

5. Define agricultural income and give 

examples. Also distinguish between 

agricultural income and partly agricultural 

income with examples. 4+8 
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6. Write short notes on any two of the following : 

      6+6 

(a) Clubbing of incomes 

(b) Deduction under Section 80D 

(c) Bondwashing transaction 

(d) Dividend 
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ECO–11 

Lukrd mikf/k dk;ZØe (ch- Mh- ih-) 

l=kar ijh{kk  

twu] 2025 

(,sfPNd ikB~;Øe % okf.kT;) 

bZ-lh-vks-&11 % vk;dj ds ewy rRo 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % iz'u la- 1 vfuok;Z gSA 'ks"k esa ls dksbZ rhu iz'u gy 

dhft,A 

1- fuEufyf[kr fooj.kksa ls Jh lq'khy dqekj dh 31 ekpZ] 

2024 dks lekIr gksus okys o"kZ dh dqy vk; dh x.kuk 

dhft, %   14 

 ` 

mÙkj izns'k ljdkj ds 7% ckW.M~l ij izkIr 

C;kt 5,000 

edku lEifÙk ls vk; 24,000 

Hkkjrh; dEiuh ds iwokZf/kdkj va'kksa ij izkIr 

ykHkka'k 10,000 
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nh?kZdkyhu iw¡th gkfu (o"kZ 2020&21 ls 

lEcfU/kr) 7,000 

nh?kZdkyhu iw¡th ykHk 5,000 

vYidkyhu iw¡th ykHk 6,000 

vYidkyhu iw¡th gkfu 2,000 

2- (d) Jh fo'ks"k] tks xszP;qbVh vf/kfu;e] 1972 ds vUrxZr 

ugha vkrs gSa] 34 o"kZ 9 ekg 23 fnu dh lsok ds 

mijkUr 23 twu] 2023 dks lsokfuo`Ùk gksus ij  

` 5]76]000 xzsP;qbVh ds izkIr djrs gSaA mUgkasus lcls 

vUr eas fuEufyf[kr dqy osru izkIr fd;k % 8 

ewy osru  ` 30]000 izfr ekg 

eg¡xkbZ HkÙkk ` 7]200 izfr ekg (LFkk;h) 

ewy osru esa ` 1]200 izfr ekg dh ok£"kd o`f¼ izfr 

o"kZ 1 tuojh dh gksrh gSA 

dj&fu/kkZj.k o"kZ 2024&25 eas xzsP;qbVh dh fdruh 

jkf'k djeqDr gksxh \ 

([k) xro"kZ vkSj dj&fu/kkZj.k o"kZ ds chp varj  

crkb,A  4 



 [ 7 ] ECO–11 

A–307/ECO–11 P. T. O. 

3- (d) mu 'krks± dh O;k[;k dhft, tks fdlh O;fDr esa 

fuoklh gksus ds fy, larq"V gksuh pkfg,] ysfdu 

lk/kkj.k fuoklh ughaA 8 

([k) vk;dj vf/kfu;e] 1961 eas lkafof/kd Hkfo"; fuf/k 

ds laca/k esa D;k izko/kku gSa \ 4 

4- (d) Jh o#.k dh dj&fu/kkZj.k o"kZ 2024&25 ds fy, 

edku ds ok£"kd ewY; dh x.kuk dhft, % 8 

 ` 

uxjikfydk ewY; 2,00,000 

mfpr fdjk;k 1,80,000 

izfr ekg okLrfod fdjk;k 25,000 

xro"kZ ds nkSjku edku nks ekg [kkyh jgkA u olwy 

gq, fdjk;s dh jkf'k ` 40]000 gSA edku ekfyd 

}kjk pqdk;k x;k uxjikfydk dj ` 20]000 gSA 

([k) vk;dj vf/kfu;e ds varxZr ^iw¡th ykHk* 'kCn dk 

D;k vFkZ gS \ 4 

5- Ïf"k vk; dks ifjHkkf"kr dhft, vkSj mnkgj.k nhft,A 

Ïf"k vk; vkSj vkaf'kd :i ls Ïf"k vk; ds chp varj Hkh 

mnkgj.k lfgr crkb,A 4$8 
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6- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

      6$6 

(d) vk;ksa dks bdV~Bk djuk 

([k) /kkjk 80Mh ds rgr dVkSrh 

(x) fn[kkoVh ysu&nsu  

(?k) ykHkka'k 

× × × × × 

 

 

 

 

 

 

 

 

 


